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transpositions (ij) are odd permutations .

(123456789) = (19)(18)(17)(16)(15)(1*) (13) (12)

A k-cycle is a product of k-1 transpositions .

If k is even
,

this is odd ; and vice versa
.

-

A cycle
·

...

of old bugth is an ever permutationi
&

a
If a is a product of an even number

of transpositions , then is an every permultion
.
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z (yz) even permutation of the coordinate axis in RR" is an-> AnMy orientation - preserving transformation -
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A permutation xt Se can be expressed as a product of transpositions .

If I is a product of an even number of transpositions ,

then a is even
.
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-(213)(23)(23)(23) 4x2) (23) = (12 3) says
(123) is an even plantation .
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Since R Creals under addition)
has only one element of finite order

whereas IR" has two elements of
finite order : 11
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If accbc then multiply both sides by on the right
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